XEN L YTH o gpo9

1. x=2009, y="7440 & o, :
y—xi x-+Yyi

(v = xi) (x + yi)
_ x2 4 2xyi — y? + y% — 2xyi — x2 _0
xy + y2i — x%i + xy B

upebA] Fot= 2 0




oA T y = -2 -2 xS HF 2 < x <2 W,
o] A Tgh2?

@ -3 @ -2 ® 0 (}6 ® 9

B

y=x*-2x-2= y=(x-1)2-3
—2<x<20°|B& x =194 H4:7h
x = =2 oA HAGS =t
S HRY T (-2-1)°-3=6




D
=
_l’_
g

e
o
=
Q
S8
H
o
ne
£
L
oo
of
oX
i)
ol
ol
rr

- x_Y
@ x=y @a b

(a® 4+ b?)(x* +y?) — (ax + by)? = 0=

25| st

a®y? + b?x® — 2abxy = 0
=, (ay—bx)2 =0
“ay—bx=0(. a, x, b,

y
wEbA, gy = bx oAl 2 = %




4.  a=2004, b=2001¢¥ o, a* - 3a®b + 3ab* - b3 O] FFL?

O 21 @ 23 ® 25 @27 ® 29

“(a-b)3=33=27




5.

oAl ¥ +ax® + bx+ 32 X2 —x - 122 Uie YA 7F 14x - 9 Y

o, a + b2 G227

O @ 2 ® 3 @ 4 ® 5

B
52 0(x) 7 st

x4+ ax®> +bx+3
=(x?-x-12)Q(x) + 14x -9
=(x-4)(x+3)0(x) + 14x-9
x=4, x=-32ZZ fYstH
16a+ 4b+ 67 =47---Q)
9a—3b—-24=-51---©

Q, O& Aol EHa=-2,b=3
Ta+b=1




6. 3x2+2xy-y? -4y -3 JAF-ES| 5HH?

O (x+y+1)Bx+y-3) @ (x-y+1)(Bx-y-3)
® Bx+y+)x-y-3)  @@+y+1)Er-y-3)
® (x-y-1)(3x-y-13)

3x% 4+ 2xy—y? —4y-3
=B8x-(+3)(x+y+1)
=(x+y+1)Bx—y-3)




L S5 g(x) &) HLFMGE 2 =T+ 6
19, f(x) 2} g(x) O] HAFFTE G(x) 2 & ©, G(2) o #42?
®© -2 @ -1 (@)0 @ 1 ® 2
S8
F O f(x) % g(x) 9 HATRSE
L(x) = (x=1)(x* + x - 6)
=(x-Dx-2)(x+3)---Q
% 2 a4 £(x) o g(x) O] ARSI} G(x) Ol 2R
f(x) = G(x)A(x), g(x) = G(x)B(x)
(A(x), B(x)+= A=4) 2 s
f(x) + g(x) = G(x)A(x) + G(x)B(x )
= G(x){A(x) + B(x ) =
f(x) +glx)=Gx)E U+ 1’4’
Ff(x) +g(x) =2x2 - 2x - 4= 2(x —x-2)
= 2(x - 2)(x+ 1)---©
@, ©°A G(x) =
L G(2)=0




8.

o2k el A%7} 19) F 0|7} chalel A
A

z
ATt X3 + 4x? + x - 69 © F 0|4

Z]
2 +x-3 2 4+x-6
@ 0]
X2 +5x+1 X2 +4x+3
x4 x-2 X2 4+ 92x—3
o ®
x2-x+3 “1x2+5x+6
X2 4+4x+3
®
X2 -x-6

WA +x-6=(x-1)(x+2)(x+3)
T oA (x - 1)(x+3), (x+2)(x+3) 1A
+2x-3, x> +5x+6




D)2x? +4x - 16 @ 2x2+3x-8 ® x2-5x-1

FolA A& A=a(x-2), B=b(x-2) (a, b= HZEA)

L=x3+6x*—-x-30=abG = ab(x-2) ©]1L,
L& Ql5-isfstd
L=(x-2)(x>+8x+15) =
(x=2) (x+3)(x+5)

G ab
wteba], = oAl e
(x=2)(x+3)=x*+x-6
(x=2)(x+5)=x*+3x-10 0| B2
= gaael ge

(x> +x=6) + (x2 +3x - 10) = 2x> + 4x - 16




Q1910] A% x, yoll ok (x4 yi)(L+20) + (xi-y) (-1 i)~ (y +1)
7H A% ul, SN A (x, y) 2 BB 2T o5, yF O

Hol& Fotd?

Sl BEe
1 1 1
2 1 - - -
® @ o; @ ®
(F)=(2x-2)+ (x+2y-1)i=0
“x+2y-1=0,
_ 1,1
Y= T3
1 1 1
S==-X1x=-=-
2 2
Ho]zl
4




—_

~.

3|




12, Ol (VE+ 1) + x— V3(VE+ 1) = 0] 5 0] F&9

@—\/5 @ -1 ® 0 @ 1 ®

S

Folz Ao FRlof V2 -1 Fotd
(V2-1)(V24+ 1)+ (V2-1Dx— V2(V2-1)(V2+1) =0

X+ (V2-1)x-V2=0
(x+ V2)(x-1)
Lx=—-\2EEx=1
whEbA] T 20 F2 -2




® 2

fx)=08 % FZabtotHa+b=3
9x+1=r2 otdd x:%

f@2x+1) = f(r) = 0°1A

f(6) =02 87t t=a, t=bo|EE

_ -1
f@x+1)=09 —aﬁ—t—x:“2 ,
ca-1 b-1 a+b-2 1

2+2 2 2




14.

a>09 W, 22 4 ax+b=09] To] BE &5 A9 A5 59| e

HSIE?

)
D b<0 @%Sb«) 30 <b<

@ b>0 ® 0<b<a




15 ©lRH y = 2(x+ 1)(2x - 3) o HHELL?

25 27 91 93 o
D-7 @37 95 05 0-%
y = 2(x+1)(2x - 3)

=2(2x% - x - 3)
_ A
_4(x 2) 8
e E i_i)_ﬁ
_4<x 2716 16/ 4




@ 274 @ 374 ® 474 @ 574

&8

X2 —x+4
= =k FH
X2 4+x+1 ot

W—x+4=k(x*>+x+1)
k-1)x*+ (k+1)x+k-4=0
x7t AspolB g Aol
wheba], BEA D = (k+1)2-4(k-1)(k-4) >0
3k2 - 22k +15 <0
. 11—2xlﬁskS 11+ 2V19
3 3
kv BgolBnz ti7e] M S FoiEH
0. X X <k < 6.x x4
k=1,2,3, 4,5, 62]67]°]c}.




1

1
17, x4 - =10, 0 4 o] gres
X X
O @-1 -2 @2 ® 101
1 2
x+ =19 +1=x
X
Cx2—x+1=0,x*=-1
Z A1) — (3)33 . ,2 1
(T'—_ —1)—()6) X +(x3)33 x2
-1 41 -x+1
_ .2 _
Xt ST T T
x—1
= x2 =]_




18.

x+y+z2=0, 2x—y—Tz =32 FA UHFAZ]= x,y,z0l st
ax® +by? +cz2 =101 AHS W), a4 b + ¢ 9] & F5HH?

B ~
() x+y+z=0, 2x—y—-"T7z=3°A
x, y& zo tisto] LehyH
x=2z+1, y=-3z-1
(i) x=2z+1, y=-3z—1-Z ax® + by? + cz> = 1 ol U3}t
Bejota
(4a+9b+ )z +2(2a+3b)z+ (a+b-1)=0
4da+9b+c=0,2a+3b=0,a+b-1=0
ca=3,b=-2,c=6
ca+b+c="7




19. xoll tigt &G54 (x® —x—1)° = ap + a1x + azx* + -+ - + agx® | A
ai +as + as °| F27

O -2 @)-1 ® 0 @ 1 ® 2

-l=ag+a1+ -+ +ag Q)
FHof x = -1 thUotH,
=ay-ar+ - +ag O
@-©: -2 = 2(a + a3 + as)

v ar+az+as=-1

—




20. xof #F 32 A f()E x- 12 Yz UHAZL2, x+ 12 Y
U 27} 4240 bt f(x) oA x2 9] Al a, FFEES bt olH
a+ b9 F2?

®-1 @0 ® 1 @2 @3

B

f(x) = px3 + ax? + gx+ bt 514
f(1) =2, f(-1) =4°lA
ptat+tq+b=2---Q
pra-—q+b=4--©
9+ O©E 5
2a+b)=6,a+b=3




